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@ python’

https://websitesetup.org/wp-content/uploads/2020/04/Python-Cheat-Sheet.pdf
https://perso.limsi.fr/pointal/_media/python:cours:mementopython3-english.pdf
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https://scikit-learn.org/
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< NumPy
% https://www.numpy.org/

< FIXNHAZERERXENNFRYE
o XFHAMENSHHNASEFEZE
< NumPy £ SciPy. Matplotlib &¥ BEFENEMAH



https://www.numpy.org/

ST

< {#H pip &3 scikit-learn:

% pip3 install --user -U scikit-learn

< MRZEAKRY], TI=0{ER apt Z3<:
% sudo apt install python3-sklearn
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Machine Learning Repository

https://archive.ics.uci.edu/dataset/186/wine+quality

Data Set Characteristics:

Multivariate Number of Instances: || 4898 || Area: Business
Attribute Characteristics: Real Number of Attributes: || 12 Date Donated 2009-10-07
Associated Tasks: Classification, Regression || Missing Values? N/A || Number of Web Hits: || 1992906
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https://archive.ics.uci.edu/dataset/186/wine+quality
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import numpy
from sklearn.linear_model import LinearRegression

data = numpy.genfromtxt('winequality-white.csv', delimiter=';")
data = numpy.delete(data, 0, axis=0)
print(data)

X = data[:-100, :-1]

y = data[:-168, -1]

m = LinearRegression().fit(X, y)
r = m.predict(data[160:, :-1])
print(r)

g = data[160:, -1]

print(g)

print(((g - r) ** 2).mean(axis=0))

[[ 7. 0.27 06.36 ... 0.45 8.8 6. ]
[ 6.3 0.3 08.34... 0.499 9.5 6. 1]
[ 8.1 0.28 0.4 0.44 16.1 6. ]
[ 6.5 ©0.24 08.19 ... 0.46 9.4 6. ]
[ 5.5 0.29 8.3 0.38 12.8 7. ]
[ 6. 0.21 ©6.38 ... 0.3211.8 6. 1]

[5.63144651 6.108115806 5.85674592 ... 5.34351476 6.575670839
6.35192467]

[6. 5. 5. ... 6. 7.6.]
0.5630446931574506
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import numpy
from sklearn.linear_model import LinearRegression

data = numpy.genfromtxt('winequality-white.csv', delimiter=';")
data = numpy.delete(data, 0, axis=0)
print(data)

X = data[:-100, :-1]

y = data[:-168, -1]

m = LinearRegression().fit(X, y)
r = m.predict(data[160:, :-1])
print(r)

g = data[160:, -1]

print(g)

print(((g - r) ** 2).mean(axis=0))

[[ 7. 0.27 06.36 ... 0.45 8.8 6. ]
[ 6.3 0.3 08.34... 0.499 9.5 6. 1]
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6.35192467]

[6. 5. 5. ... 6. 7.6.]
0.5630446931574506
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import numpy
from sklearn.linear_model import LinearRegression

data = numpy.genfromtxt('winequality-white.csv', delimiter=';")
data = numpy.delete(data, 0, axis=0)
print(data)

X = data[:-100, :-1]

y = data[:-168, -1]

m = LinearRegression().fit(X, y)
r = m.predict(data[160:, :-1])
print(r)

g = data[160:, -1]

print(g)

print(((g - r) ** 2).mean(axis=0))

[[ 7. 0.27 06.36 ... 0.45 8.8 6. ]
[ 6.3 0.3 08.34... 0.499 9.5 6. 1]
[ 8.1 0.28 0.4 0.44 16.1 6. ]
[ 6.5 ©0.24 08.19 ... 0.46 9.4 6. ]
[ 5.5 0.29 8.3 0.38 12.8 7. ]
[ 6. 0.21 ©6.38 ... 0.3211.8 6. 1]

[5.63144651 6.108115806 5.85674592 ... 5.34351476 6.575670839
6.35192467]

[6. 5. 5. ... 6. 7.6.]
0.5630446931574506
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import numpy
from sklearn.linear_model import LogisticRegression
from sklearn.metrics import precision_score

data = numpy.genfromtxt('winequality-white.csv', delimiter=';
data = numpy.delete(data, 0, axis=0)

print(data)

X = data[:-100, :-1]

y = data[:-1060, -1]

m = LogisticRegression().fit(X, y)

r = m.predict(data[100:, :-1])

print(r)
g = data[160:, -1]
print(g)
print(precision_score(g, r, average='micro'))

")

[[ 7. 8.27 0.36 ... 0.45 8.8
[ 6.3 0.3 08.34 ... 08.49 9.5
[ 8.1 ©.28 8.4 ... 0.44 10.1
[ 6.5 0.24 08.19 ... 0.46 9.4
[ 5.5 ©0.29 8.3 ... 0.38 12.8
[ 6. 8.21 0.38 ... 0.32 11.8

[6. 6. 6. ... 6. 6. 6.]

[6. 5. 5. ... 6. 7.6.]

0.47061275531471447

o~ o~ O~

(o N N e

1]




R IR

R

M (Decision Tree)

MFRFEN

E_/\ -

P RLES

ﬁ%%__lfj_,z'lf

-~

"srmia

ZIKI)IU&E%

ITRENE

L HEMAY

Ax

\1r




R IR

import numpy
from sklearn.metrics import precision_score
from sklearn.tree import DecisionTreeClassifier

data = numpy.genfromtxt('winequality-white.csv', delimiter="';")
data = numpy.delete(data, 0, axis=0)
print(data)

X = data[:-100, :-1]

y = data[:-1060, -1]

m = DecisionTreeClassifier().fit(X, y)
r = m.predict(data[100:, :-1])
print(r)

g = data[160:, -1]

print(g)

print(precision_score(g, r, average='micro'))

[L 7.
[ 6.3
[ 8.1

[ 6.5

[ 5.5

[ 6.

[5. 5. 5.
[5. 5. 5.

8.27
0.3
0.28

.24
8.29
8.21

8.36 ...
8.34 ...

8.4

8.19 ...

8.3

8.38 ...
... 5. 7.6.]
co. 6.7.6.]

8.98937057168712797

8.45 3.8
8.49 9.5
8.44 10.1
8.46 9.4
8.38 12.8

8.32 11.8
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import numpy
from sklearn.linear_model import Perceptron
from sklearn.metrics import precision_score

data = numpy.genfromtxt('winequality-white.csv',
data = numpy.delete(data, 0, axisz

print(data)

X = data[:-100, :-1]

y = data[:-1060, -1]

m = Perceptron().fit(X, y)

r = m.predict(data[100:, :-1])

print(r)

g = data[160:, -1]

print(g)

print(precision_score(g, r, average='micro'))

delimiter=";

")

[[ 7. 8.27 0.36 ...
[ 6.3 0.3 08.34...
[ 8.1 0.28 0.4
[ 6.5 0.24 8.19 ...
[ 5.5 0.29 8.3
[ 6. 8.21 0.38 ...

[6. 5. 5. ... 5. 5. 5.]

[6. 5. 5. ... 6. 7.6.]

0.3249276529387245

8.45 3.8
8.49 9.5
8.44 10.1
8.46 9.4
8.38 12.8

8.32 11.8
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import numpy [[ 7. .27 ©0.36 ... 0.45 8.8 6. ]
from sklearn.metrics import precision_score

from sklearn.pipeline import make_pipeline [6.3 8.3 8.3¢... 0.499 9.5 6. ]
from sklearn.preprocessing import StandardScaler [ 8.1 ©.28 0.4 ... 0.4418.1 6. ]
from sklearn.svm import SVC

data = numpy.genfromtxt('winequality-white.csv', delimiter="';") [ 6.5 0.24 8.19 .46 9.4 6. ]
data = numpy.delete(data, 8, axis=0) ' ' T ' '
print(data) [ 5.5 8.29 0.3 ... 08.3812.8 7. ]
X = data[:-100, :-1]

y = data[:-108, -1] [ 6. 0.21 0.38 ... 0.3211.8 6. 1]
m = make_pipeline(StandardScaler(), SVC(gamma='auto')).fit(X, y) [6. 6.5. ...5.7.6.]

r = m.predict(data[100:, :-1])

prlnt(r) [5. 5. b. ... 6. 7. 6.]

g = data[166:, -1] 9.6158816173405586

print(g)

print(precision_score(g, r, average='micro'))
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SETF=RD10TET92888 (Gaussian Naive Bayes Classifier)
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import numpy [[ 7. .27 ©0.36 ... 0.45 8.8 6. ]

from sklearn.metrics import precision_score

from sklearn.naive_bayes import GaussianNB [6.3 8.3 8.34... 0.49 9.5 6. ]
[ 8.1 ©0.28 ©6.4 ... 0.4418.1 6. ]

data = numpy.genfromtxt('winequality-white.csv', delimiter="';")

data = numpy.delete(datag 0, axis=0)

print(data) [ 6.5 ©.24 8.19 ... 8.46 9.4 6. ]

X = data[:-1608, :

y = data[:-108, - [ 5.5 0.29 8.3 ... 0.3812.8 7. ]

m = GaussianNB()

m.fit(X, y) [ 6. .21 ©0.38 ... ©6.32 11.8 6. 1]

r = m.predict(data[160:, :-1]) [5.5.5....6.7.7.]

print(r)

g = data[100:, -1] [6. 5. 5. ... 6. 7.6.]

print(g) , 0.4468528553563985

print(precision_score(g, r, average='micro"'))
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St Machine Learning Repositor
+ UC BEFHEHIRE g Repository

% https://archive.ics.uci.edu/dataset/850/raisin

Data Set Characteristics: Multivariate Number of Instances: | 900 | Area: Life
Attribute Characteristics: Integer, Real | Number of Attributes: | 8 Date Donated 2021-04-01
Associated Tasks: Classification | Missing Values? N/A || Number of Web Hits: || 1541601
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https://archive.ics.uci.edu/dataset/850/raisin

fEAV

< RENEE T E#3E: https://archive.ics.uci.edu/ml/machine-
learning-databases/00617/Raisin_Dataset.zip
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https://archive.ics.uci.edu/ml/machine-learning-databases/00617/Raisin_Dataset.zip
https://archive.ics.uci.edu/ml/machine-learning-databases/00617/Raisin_Dataset.zip
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